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the one subtraction.

Mark Notice the b difference between "the brackets":

A =I&][ a brackets are: [...]
while

ab
det (A) = cd

abrackets are: I... I
4 i

Iso use [] for a matrix like in absolute value

and II for determinate of a matrix.



⑤det(A)when Recall notation

Helpful. Think
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recall formulas"middle"one is subtracted

det A =(2) =>>(+1) #( +3)

I now compute the determines of the three 2x,2 matrices,

↓ Recall (a,"de = ad-bc.

= (2)) ( =()) ( +3))
=(2)(6) - (1)(4) + 3(1))

I 12 - 4 + 33

I 4 I


